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40,000 30,000

70,000 40,000

100,000 50,000

130,000 60,000

160,000 70,000

190,000 80,000

220,000 90,000

250,000 100,000

310,000 120,000

340,000 130,000

4.2.3 Demand Function

EC 473 37



3 8 EC 473



z (Greek Capital sigma) Ill&%  WtWUIO1

71; (Greek Lower case pi) IlUlU& dlfldh%l3.14159...

A (GreekCapitaldelta) HUIU~  ~~SI&UUII~~N

d (RomanLowercaseD)  hIUn’9fllS  differentiation

e (Roman Lower case E  ) fhfNhlh  2.71828.. .
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4.7 Inverse Function and the Problem of Causality
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vmGi4.5  rrm~~aiun’utiuhmwi~  P IIAE  T

P dl T ffVh*wiwaor

-20 (0.4X -20)-(0.01x-20x-20) = -12

fil cho1diMtew0

(-20,-12)

-10

t0

10

20

(0.4x-'10)-(0.01x-10x-10)  =  - 5 (-10,-S)

(0.4x0)-(0.01x0x0)  = 0 ( (40 1

(0.4x10)-(0.01x10x10)  = 3 (143)

(O.iXu))-(0.01  X2oX2o) =  4 (20.4)
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VMld  4.6 MlFW-dlaJ8~~U~v8~~l  C IlfE  Y

c kMwnwhuaru dlcoordinate

0.7X0’ 0 ( 40 )

0.7x 1000= 7 0 0 ( 1000,700)

0.7X2000’ 1400 ( 2000,140O  )

0.7x3000= 2100 ( 3000,210O  )

0.7x4000= 2800 ( 4000,280O  )

c = 0.7 Y

X
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(4.13)

TC = 309 + 15Y’  -59  + ‘I$ (4.14)

htQldh.d~Ud t?dialld5  Y &?lR'Sg~iJ6iln'lfh  3 &lfu  l5lWkKhl~U  third-degree

polynomial function H% cubic
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1 2

y7 yfio

0
0

X
X

Y = 280L”.81 (4.15)

hcl  Y = IlhUPl~HAIQI \
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hl~ Y IIRZ X lfhl~allds  dau  a lm b IfhJfhtWft  lrloiiolSfUlfil a 1111~  b IPWI~

d7ij hlJafl  &I  a,b >o 81 b=O  lmwh  Y = a Odh constant  fbsion (ii b ldudl dluay&J

Yanh&J~RlIoJ  polynomial function  k&  b = 1 tll~fd 4.16 rk&lallkJwir&hlllllJ

function lhth  hh intercept lV%ll  0 Ildldl b = 2 ti¶Jfd  4.16 hZ  dUtWfllZ

Quadratic iia Y = ax* (4.17)
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(4.18)

Qlf6iWf615  4.16 Y = axb

Thfll5 take log IlU  e OZ?if InY = lna+blnX

tdofi1nua’ld Y’ = lrly
.

a = lna

x’  = blx

6%?Ml¶Jf615  (4.18) hi Oz?di

y’ = a’ + bX’ (4.19)

&faml5  (4.19) ii*o~“nl”lSUnol”,56~~6~U  $.I q 6 aal0ln’olw’ua4ues~~66~56~U  r&.6

IWJW%i~h#U  (nonlinear) (6&  b # 1) &isU65lD70nd~?l&h  +t%%hhlloJl5~il6~U

iWl156SW%6%%6~hJtl~  logarithms
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